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QUESTION 1

You are a service provider and have multiple customers in a building. You are installing a new switch that can host all of
your customers. However, you would like to ensure that one customer cannot see or broadcast to another customer.
You would also like to have them use a common gateway IP address from the building. What should be used to provide
this access?

A. VLAN

B. private VLAN

C. filter-based VLAN

D. Layer 2 tunneling

Correct Answer: B

QUESTION 2

What are three types of bridge protocol data units? (Choose three.)
A. media endpoint discovery

B. topology change acknowledgement

C. topology change notification

D. type length value

E. configuration

Correct Answer: BCE

QUESTION 3

You are troubleshooting your OSPF configuration and notice that you have subnet mismatch errors when
running the show ospf statistics command.

Which two actions would further troubleshoot the errors? (Choose two.)

A. Examine your interface configuration on impacted devices.

B. Examine the interface assignment to areas in your OSPF configuration.

C. Examine the stub configuration for mismatches.

D. Examine messages from the trace options log file.

Correct Answer: AD

JNO-347 PDF Dumps | JNO-347 Practice Test | JNO-347 Braindumps 2/4


https://www.passapply.com/jn0-347.html
https://www.passapply.com/jn0-347.html
https://www.passapply.com/jn0-347.html

VCE & PDF https://lwww.passapply.com/jn0-347.htmi
2024 Latest passapply JNO-347 PDF and VCE dumps Download
PassApply.com

QUESTION 4

Click the Exhibit button. Switch-1 in the exhibit receives a packet from User A with a destination MAC address of
00:26:88:02:74:48.

Which statement is correct?

A.

Switch-1 floods the packet out ge-0/0/6, ge-0/0/7, and ge-0/0/8.
B.

Switch-1 sends the packet out ge-0/0/7 only.

C.

Switch-1 sends the packet out ge-0/0/8 only.

D.

Switch-1 floods the packet out ge-0/0/7 and ge-0/0/8.
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Correct Answer: D

A switch populates its mac-address table with mac addresses registered on incoming frames. As a result, when the
switch needs to forward a frame destined to that specific mac-address, it will know out of which port to send the frame.
Flooding however occurs when the switch does not know of the destination mac-address? say the switch has not learnt
that mac address yet; or maybe that specific entry expired so it got flushed away from the mac-address table. To ensure
the frame reaches its intended destination, the switch will replicate that frame out of all ports, less the port where the
frame was received that\\'s flooding.

QUESTION 5

Click the Exhibit button.
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userfRl#$ show interfece 1ol unit O

family iso |
address 49.9001.0192. 00680001 .00;
1

userfR2§ show interface lod unit O
family iso {

address 49.9002.01592.0168.0002 .24
1

userfR3# show interfece 1ol unitc O
family iso

address 49.4003,0152.0168.0003.00;
1

ussrfiR44 show interface lod unic 0O
family iso |
adoress 49,.0003.0192.0168.0004.30;

}

Referring to the exhibit, which two statements are true regarding 1S-IS adjacencies? (Choose two.)
A. Level 1 adjacencies can be formed between Router 3 and Router 4.

B. Level 2 adjacencies can be formed between all routers.

C. Level 2 adjacencies can only be established between Router 1 and Router 2.

D. No IS-IS adjacencies can be formed.

Correct Answer: AB
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